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QUESTION 1

Which of the following function are handled using outbound delivery monitor? (Choose two) 

A. We can perform subsequent function which includes processing output types for shipping, such as delivery note 

B. The outbound delivery monitor display all deliveries that have been processed 

C. We can use outbound delivery monitor for creation of billing documents 

D. We can use outbound delivery monitor for creation of transfer orders for picking 

Correct Answer: AD 

 

QUESTION 2

Which of the following option has the highest priority in delivery plant determination for a Sales order? 

A. Material master 

B. Ship to party\\'s customer master 

C. Customer Material information record 

D. Manual entry of plant in sales order 

Correct Answer: C 

 

QUESTION 3

How the storage unit classified in the Warehouse Structures? (Choose two) 

A. A warehouse number can contain both with and without Storage Unit Management 

B. We can activate Storage Unit Management for interim storage areas 

C. The storage unit is created in the system as soon as goods are putaway in a storage type with active Storage Unit
Management 

D. If a mixed storage unit is putaway, this putaway is covered by a single transfer order item 

Correct Answer: AC 

 

QUESTION 4

What are the steps for physical inventory process available in Warehouse Management in SAP ECC? 

i) Storage bins are blocked ii) Print warehouse inventory list iii) Activate physical inventory document iv) Create physical
inventory document v) Count, weigh, measure, estimate vi) Release the blocked storage bins vii) Enter physical
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inventory count viii) Clear differences in Inventory Management ix) Clear differences in Warehouse Management 

A. iv, iii, i, ii, v, vii, ix, vi, viii 

B. i, ii, iii, iv, v, vii, ix, vi, viii 

C. iv, ii, i, iii, vi, vii, ix, v, viii 

D. ii, iii, ii, ii, viii, vii, ix, vi, v 

E. iv, iii, i, ii, v, vii, viii, ix, vi 

Correct Answer: A 

 

QUESTION 5

Which of the following capacity check methods are preconfigured in the standard SAP ECC system? (Choose six) 

A. Check based on the maximum weight per storage type 

B. Check based on the maximum weight per storage bin 

C. Check based on the first palletization proposal 

D. Check based on the maximum quantity per storage type 

E. Check based on the maximum quantity per storage bin 

F. Check based on the key figure of the material 

G. Check based on the key figure of the storage unit type 

H. Check based on the key figure of the material and the storage unit type 

Correct Answer: BCEFGH 

 

QUESTION 6

You want to view a list of outbound deliveries which has not been completed. Which warehouse activity monitor object
will be used to display this report? 

A. Open posting change notices 

B. Unconfirmed transfer orders 

C. Open deliveries 

D. Open transfer requirements 

Correct Answer: C 
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QUESTION 7

Your organization is planning to implement the Lean Warehouse Management. Which of the following statement correct
with reference to the feature of Lean Warehouse Management? (Choose two) 

A. It is not a warehouse management system 

B. It is a tool for connecting external systems for storage bin management to our own SAP system. 

C. It is a mean of using transfer orders even without storage bin management 

D. It is a Warehouse Management system with a reduced functional scope 

Correct Answer: BC 

 

QUESTION 8

Your organization is quite keen to use mixed storage for the storage type. What do you think are the reasons for the
same? (Choose two) 

A. It allows storage of more than one quant in a storage bin 

B. There are several capacity check procedures available for storage type and putaway strategies to ensure that
storage bins are not overloaded when there are mixed storage 

C. Several batches of same materials cannot be stored in one storage bin 

D. All the above 

Correct Answer: AB 

 

QUESTION 9

You materials are handled in batches, and during the delivery of items it is possible that materials can be delivered from
different batches. How can we handle this process? (Choose three) 

A. Manually in the batch split screen of the delivery item 

B. Using automatic batch determination when creating the sales order 

C. In Warehouse Management 

D. Through manually triggered batch determination in the batch split screen 

Correct Answer: ACD 

 

QUESTION 10

Which of the following are types of planning document in Cross-docking? (Choose three) 

A. Transfer requirement 
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B. Confirmation 

C. Inbound delivery 

D. Outbound delivery 

Correct Answer: ACD 

 

QUESTION 11

What are the features of Lean Warehouse Management which makes it lucrative to implement in place of full
Warehouse Management System? (Choose three) 

A. Reduced time of implementation 

B. Less complexity compared to full Warehouse management 

C. Storage at storage bin level 

D. Usage of storage sections not required 

Correct Answer: ABD 

 

QUESTION 12

Which of the following criteria are used by warehouse Management System uses in putaways and stock removals to
decide which material quantity forms a quant in a storage bin? (choose four) 

A. Plant and storage location assignment of the material 

B. Stock category 

C. Special stock assignment 

D. Material number 

E. Unit of measure 

F. Material date 

Correct Answer: ABCD 

 

QUESTION 13

We are using the staging for a work order using the WM-PP interface. What are its features? (Choose three) 

A. The transfer requirement is not created as a result of a goods issue posting or another Inventory Management
posting, but rather using requests created with special transactions either in a separate step or directly out of the work
order 

B. The requested components are sent to a separate interim storage type "production supply" 
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C. The requested components are transferred to a goods issue area 

D. The goods issue posting for the components used in the production process completes the staging process 

Correct Answer: ABD 

 

QUESTION 14

You are using planned cross-docking process, and in the cross-docking monitor, we can choose the optimization levels.
Which of the following levels are correct? (Choose three) 

A. Delivery/transfer requirement 

B. Shipment 

C. Group 

D. Warehouse number 

Correct Answer: ABC 

 

QUESTION 15

What is the functionality of Shipping Point in the Logistic Execution? 

A. The shipping point is used for goods issue processes using outbound deliveries 

B. The shipping point is used for good receipt processes using inbound deliveries 

C. The shipping point is used for goods issue processes using inbound deliveries 

D. The shipping point is used for goods receipt processes using outbound deliveries 

Correct Answer: A 
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